131203 TRACT 0S-2

Point # 1 10000.000 10000.000
N 38 2 33 W 152.740

Point # 2 10120.291 9905.875
S 58 40 9 E 0.730

Point # 3 10119.911 9906.498
S 31 19 51 W 230.000

Radius Point # 4 9923.450 9786.903
Delta =20 37 36 Length = 82.801 Tangent = 41.853

N 51 57 27 E 230.000

Point # 5 10065.187 9968.040
S 38 2 33 E 95.380

Point # 6 5990.070 10026.818
S 51 57 27 W 125.000

Radius Point # 7 9913.039 9928.374
Delta=41 33 3 Length = 90.650 Tangent = 47.422

S 86 29 30 E 125.000

Point # 8 9905.390 10053.139
N 60 4 16 W 77.780

Point # 9 9944.196 9985.732
N 29 55 44 E 25.610

Point # 10 9966.391 9998.509
N 2 33 2 E 33.640

Point # 11 9999.998 10000.006

AREA = 5,518.63 sf (.1267 acres)

LENGTH = 385.88

NORTHING ERROR = -0.002
LINEAR ERROR=S 70 2 56 E 0.007

EASTING ERROR = +0.006



131203 TRACT OS-3

Point# 1 10000.000 10000.000
N 29 55 44 E 22.800

Point # 2 10019.760 10011.375
S 60 4 16 E 66.500

Point # 3 9986.581 10069.007
S 83 29 12 E 23.060

Point# 4 9983.965 10091.919
N 15 59 47 W 1650.000

Radius Point # 5 11570.076 9637.217
Delta=1 46 16 Length = 51.004 Tangent = 25.504

S 14 13 31 E 1650.000

Point# 6 9970.670 10042.680
) 7 3 52 E 20.150

Point # 7 9950.673 10045.158
N 14 8 56 W 1670.000

Radius Point # 8 11570.011 9636.939
Delta=0 21 37 Length = 10.501 Tangent =5.251

S 13 47 19 E 1670.000

Point # 9 9948.138 10034.967
N 33 59 24 W 62.550

Point # 10 10000.000 9999.999

AREA = 2,406.20 sf (.0552 acres)

LENGTH = 195.06

NORTHING ERROR = +0.000

LINEAR ERROR=N 85 11 9 W 0.001

EASTING ERROR = -0.001



